UNIT : SECTION *— TOWNSHIP : t

Bl
L9050 BE: 9050 LAE 1 G/6¥IX : 0.774 Il Pt2= 7.8 B o= 100.2 %]
3002 ¢ 0.09 N2 0.89 B2S : DATE  :6 2596 | 0.0 ERR ||
d: 1.7 Fr :0.025671 GH : 7004.7 RANGE I 0.0 ERR *!|
::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::I[ 00 ERR *w‘
I *1
VOL1: 172 BSIAl:  BB.2 RESV.TEMP  164.5 [IPc2-Pw2=  75.9  Pw2 = 10.0 #||
VOL 2 : PSIA 2 ¥ ERR ERR #/]
VoL 3 : PSIA 3 : SHUT-IN PR=  293.2 [ ERR ERR #||
VoL 4 : PSIA 4 ¥ ERR ERR *(|
| k|
BCR : 666 ¥ n= 1,000 %
TCR: 415 1 £||
[1Pc2/(Pc2-Pw2) =  1.132 £
LINE | RATE 1 | | RATE 2 | | RATE 3 | | RATE 4 | ¥ ERR %] |
! | | | ! ! ! | [l ERR *|
| C1ST | 28D | CIST | CU2ND | CIST | 28D | CIST | 2D | ERR % |
| ! | | | l ! | I * |
1 Q4 | 0172 0.172 0.000 | 0.000 | 0,000 | 0.000 | 0.000 |  0.000 £ |
2 m | 534 | 534 | 534 | 534 | 534 | 534 | 53¢ | 534 ||[Pc2/Pc2-Pul]n = 1,132 % |
3 Ts 1 6245 | 624.5 | 624.5 | 624.5 | 6245 | 624.5 | 6245 |  624.5 || ERR *) |
¢ T | 579.3| 579.3 | 579.3 | 579.3 | 579.3 | 579.3 | 579.3 |  579.3 || ERR *||
PR {est) |  0.13 | [ 0.00 | | 0.00 | L 0.00 | [ ERR * |
5 I(est) | 0.959 | 0.95% | ERR | ERR | ERR | ERR |  ERR | ERR || £
6 T | 555.7| 553.6 | ERR | ERR | ERR | ERR | ERR | ERR || ROF= 0 0.195 t||
7 GB/TZ | 12.606 | 12.653 | ERR | ERR | ERR | ERR | ERR | ERR || ERR Jl
8 eS | 1.604| 1.607| ERR | ERR | ERR | ERR | ERR |  ERR || ERR t||
9 l-e-§ | 0.377] 0.378| ERR | ERR | ERR | ERR | ERR | ERR || ERR Jl
10 Pt | 88.2 | 88.2 ] 0.0 | 0.0 | 0.0 | 0.0 | 0.0 | 0.0 || £||
11 Pt2 /1000 7.8 | 7.8 | 0.0 | 0.0 | 0.0 | 0.0 | 0.0 | 0.0 || Jl
12 Fr [0.025671 [0.025671 [0.025671 {0.025671 [0.025671 |0.025671 {0.025671 {0.0256714 || #|
13 Fe=FrTZ | 14.265| 14.211 | ERR | ERR | ERR | ERR | ERR | ERR || £ |
14 FcQm | 2.45| 2.44| ERR | ERR | ERR | ERR | ERR | ERR || £||
15 L/B(FcQnm) | 6.0 | 6.0 ERR | ERR | ERR | ERR | ERR | ERR || %] |
16 Fw  [2.267624 [2.257330 | ERR | ERR | ERR . ERR | ERR | ERR || £
17 w2 ! 100 10,0 ERR | ERR | ERR ' ERR |  ERR | ERR || £ |
18 ps2 | 1611 161 ERR | ERR | ERR : ERR | ERR | ERR || Jl
19 ps | 1270 121.0| ERR | ERR | ERR ! ERR | ERR | ERR || t]|
200 P | 107.5| 107.6 | ERR | ERR | ERR | ERR | ERR | ERR || £
21 Ppr | 0.15| 0.16| ERR | ERR | ERR | ERR | ERR | ERR || £
22 T | LAY 140 140 1400 1.40 ] 140 | 1.40 | 1.40 || *]|
331 | 0.955] 0.95% | ERR | ERR | ERR | ERR |  ERR | ERR || FORK C122-D i



